
www.sentinel-holding.eu

SHI-Produktpass-Nr.:

12895-10-1009

Rockpanel
Fassadentafel, 8 mm

Warengruppe: Wandverkleidung - Fassade

Rockpanel – Part of ROCKWOOL Group
Konstruktieweg 2
6045 JD Roermond

Produktqualitäten:

Helmut Köttner
Wissenschaftlicher Leiter

Freiburg, den 10.04.2025

Produkte finden - Gebäude zertifizieren



www.sentinel-holding.eu

Inhalt

Wir sind stolz darauf, dass die SHI-Datenbank, die erste und
einzige Datenbank für Bauprodukte ist, die ihre umfassenden
Prozesse sowie die Aktualität regelmäßig von dem
unabhängigen Prüfunternehmen SGS-TÜV Saar überprüfen
lässt.

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009

SHI-Produktbewertung 2024 1

Qualitätssiegel Nachhaltiges Gebäude 2

EU-Taxonomie 3

DGNB Neubau 2023 4

DGNB Neubau 2018 5

BNB-BN Neubau V2015 6

BREEAM DE Neubau 2018 7

Produktsiegel 8

Rechtliche Hinweise 9

Technisches Datenblatt/Anhänge 10



1

www.sentinel-holding.eu

SHI-Produktbewertung 2024
Seit 2008 etabliert die Sentinel Holding Institut GmbH (SHI) einen einzigartigen Standard für schadstoffgeprüfte
Produkte. Experten führen unabhängige Produktprüfungen nach klaren und transparenten Kriterien durch. Zusätzlich
überprüft das unabhängige Prüfunternehmen SGS regelmäßig die Prozesse und Aktualität.

 

Kriterium Produktkategorie Bewertung

SHI-Produktbewertung nicht bewertungsrelevant

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



2

www.sentinel-holding.eu

Qualitätssiegel Nachhaltiges
Gebäude

Das Qualitätssiegel Nachhaltiges Gebäude, entwickelt durch das Bundesministerium für Wohnen, Stadtentwicklung und
Bauwesen (BMWSB), legt Anforderungen an die ökologische, soziokulturelle und ökonomische Qualität von Gebäuden
fest. Das Sentinel Holding Institut prüft Bauprodukte gemäß den QNG-Anforderungen für eine Zertifizierung und
vergibt das QNG-ready Siegel. Das Einhalten des QNG-Standards ist Voraussetzung für den KfW-Förderkredit. Für
bestimmte Produktgruppen hat das QNG derzeit keine spezifischen Anforderungen definiert. Diese Produkte sind als
nicht bewertungsrelevant eingestuft, können jedoch in QNG-Projekten genutzt werden.

 

Kriterium Pos. / Bauproduktgruppe Betrachtete Stoffe QNG Freigabe

3.1.3
Schadstoffvermeidung in
Baumaterialien

nicht zutreffend nicht zutreffend nicht bewertungsrelevant

Bewertungsdatum: 23.10.2024

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



3

www.sentinel-holding.eu

EU-Taxonomie
Die EU-Taxonomie klassifiziert wirtschaftliche Aktivitäten und Produkte nach ihren Umweltauswirkungen. Auf der
Produktebene gibt es gemäß der EU-Verordnung klare Anforderungen zu Formaldehyd und flüchtigen organischen
Verbindungen (VOC). Die Sentinel Holding Institut GmbH kennzeichnet qualifizierte Produkte, die diesen Standard
erfüllen.

 

Kriterium Produkttyp Betrachtete Stoffe Bewertung

DNSH - Vermeidung und
Verminderung der
Umweltverschmutzung

Stoffe nach Anlage C EU-Taxonomie konform

Nachweis: Herstellererklärung vom 30.10.2024

Bewertungsdatum: 04.11.2024

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



4

www.sentinel-holding.eu

DGNB Neubau 2023
Das DGNB-System (Deutsche Gesellschaft für Nachhaltiges Bauen) bewertet die Nachhaltigkeit von Gebäuden
verschiedener Art. Das System ist sowohl anwendbar für private und gewerbliche Großprojekte als auch für kleinere
Wohngebäude. Die Version 2023 setzt hohe Standards für ökologische, ökonomische, soziokulturelle und funktionale
Aspekte während des gesamten Lebenszyklus eines Gebäudes.

 

Kriterium Pos. / Relevante
Bauteile / Bau-
Materialien / Flächen

Betrachtete Stoffe /
Aspekte

Qualitätsstufe

ENV 1.2 Risiken für die
lokale Umwelt

nicht zutreffend nicht bewertungsrelevant

Bewertungsdatum: 28.02.2025

Kriterium Bewertung

ECO 1.1 Gebäudebezogene Kosten im Lebenszyklus Kann Gesamtbewertung positiv beeinflussen

Nachweis: Broschüre Instandhaltung / Wartung / Reinigung

Bewertungsdatum: 23.10.2024

Kriterium Bewertung

ENV 1.1 Klimaschutz und Energie Kann Gesamtbewertung positiv beeinflussen

Nachweis: Circularity Data Report 6341, RockCycle®

Bewertungsdatum: 23.10.2024

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



5

www.sentinel-holding.eu

DGNB Neubau 2018
Das DGNB-System (Deutsche Gesellschaft für Nachhaltiges Bauen) bewertet die Nachhaltigkeit von Gebäuden
verschiedener Art. Das System ist sowohl anwendbar für private und gewerbliche Großprojekte als auch für kleinere
Wohngebäude.

 

Kriterium Pos. / Relevante
Bauteile / Bau-
Materialien / Flächen

Betrachtete Stoffe /
Aspekte

Qualitätsstufe

ENV 1.2 Risiken für die
lokale Umwelt

nicht zutreffend nicht zutreffend nicht bewertungsrelevant

Bewertungsdatum: 28.02.2025

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



6

www.sentinel-holding.eu

BNB-BN Neubau V2015
Das Bewertungssystem Nachhaltiges Bauen ist ein Instrument zur Bewertung von Büro- und Verwaltungsgebäuden,
Unterrichtsgebäuden, Laborgebäuden sowie Außenanlagen in Deutschland. Das BNB wurde vom damaligen
Bundesministerium für Umwelt, Naturschutz, Bau und Reaktorsicherheit (BMUB) entwickelt und unterliegt heute dem
Bundesministerium für Wohnen, Stadtentwicklung und Bauwesen.

 

Kriterium Pos. / Bauprodukttyp Betrachtete
Schadstoffgruppe

Qualitätsniveau

1.1.6 Risiken für die lokale
Umwelt

nicht bewertungsrelevant

Bewertungsdatum: 23.10.2024

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



7

www.sentinel-holding.eu

BREEAM DE Neubau 2018
BREEAM (Building Research Establishment Environmental Assessment Methodology) ist ein britisches
Gebäudebewertungssystem, welches die Nachhaltigkeit von Neubauten, Sanierungsprojekten und Umbauten einstuft.
Das Bewertungssystem wurde vom Building Research Establishment (BRE) entwickelt und zielt darauf ab, ökologische,
ökonomische und soziale Auswirkungen von Gebäuden zu bewerten und zu verbessern.

 

Kriterium Produktkategorie Betrachtete Stoffe Qualitätsstufe

Hea 02 Qualität der
Innenraumluft

nicht bewertungsrelevant

Bewertungsdatum: 23.10.2024

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



8

www.sentinel-holding.eu

Produktsiegel
In der Baubranche spielt die Auswahl qualitativ hochwertiger Materialien eine zentrale Rolle für die Gesundheit in Gebäuden
und deren Nachhaltigkeit. Produktlabels und Zertifikate bieten Orientierung, um diesen Anforderungen gerecht zu werden.
Allerdings besitzt jedes Zertifikat und Label eigene Prüfkriterien, die genau betrachtet werden sollten, um sicherzustellen,
dass sie den spezifischen Bedürfnissen eines Bauvorhabens entsprechen.

Das Zeichen C2C-Label zeichnet Produkte aus, deren Designkonzept „von der Wiege bis
zur Wiege“ auf einem geschlossenen Rohstoffkreislauf beruht und nicht nur einfache
Recycling- oder Entsorgungsmöglichkeiten anbietet. In den Stufen „Gold“ und „Platin“
werden auch Emissionskriterien berücksichtigt. Die Anforderung sind aber weniger
streng, als für die direkte Freigabe im Sentinel-Portal nötig wäre. 

Produkte mit dem QNG-ready Siegel des Sentinel Holding Instituts eignen sich für
Projekte, für welche das Qualitätssiegel Nachhaltiges Gebäude (QNG) angestrebt wird.
QNG-ready Produkte erfüllen die Anforderungen des QNG Anhangdokument 3.1.3
"Schadstoffvermeidung in Baumaterialien". Das KfW-Kreditprogramm Klimafreundlichen
Neubau mit QNG kann eine höhere Fördersumme ermöglichen. 

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009



9

www.sentinel-holding.eu

Rechtliche Hinweise
(*) Die Kriterien dieses Steckbriefs beziehen sich auf das gesamte Bauobjekt. Die Bewertung erfolgt auf der
Ebene des Gebäudes. Im Rahmen einer sachgemäßen Planung und fachgerechten Installation können einzelne
Produkte einen positiven Beitrag zum Gesamtergebnis der Bewertung leisten. Das Sentinel Holding Institut stützt
sich einzig auf die Angaben des Herstellers.

Alle Kriterien finden Sie unter:                                                                                                                                                   

https://www.sentinel-holding.eu/de/Themenwelten/Pr%C3%BCfkriterien%20f%C3%BCr%20Produkte

Wir sind stolz darauf, dass die SHI-Datenbank, die erste
und einzige Datenbank für Bauprodukte ist, die ihre
umfassenden Prozesse sowie die Aktualität regelmäßig
von dem unabhängigen Prüfunternehmen SGS-TÜV Saar
überprüfen lässt.

Produkt:

Rockpanel Fassadentafel, 8 mm
SHI Produktpass-Nr.:

12895-10-1009

Herausgeber

Sentinel Holding Institut GmbH
Bötzinger Str. 38
79111 Freiburg im Breisgau
Tel.: +49 761 59048170
info@sentinel-holding.eu
www.sentinel-holding.eu

https://www.sentinel-holding.eu/de/Themenwelten/Pr%C3%BCfkriterien%20f%C3%BCr%20Produkte


 
 
 

The validity of this certificate can be checked on the website www.bcca.be.  
Further clarification regarding the scope of this certificate and the applicability  
of the requirements may be obtained from the certified organisation.  

BELGIAN CONSTRUCTION CERTIFICATION ASSOCIATION NPO  

FOUNDERS: BBRI AND SECO 

RUE D’ARLON 53, B – 1040 BRUSSELS 
TEL. + 32 2 238 24 11    
MAIL@BCCA.BE  I  WWW.BCCA.BE 

EUCEB CERTIFICATE 

BCCA, independent Certification Body designated by the scheme owner EUCEB,  

declares that all requirements have been met to attest that the products  

to which the right to use the EUCEB Trademark is granted and that are manufactured by  

Rockwool bv - NL 

Industrieweg 15, NL - 6045 JG, Roermond 

in the plant situated at 

Roermond 

are made of fibres with a chemical composition that lies within the chemical range of the reference fibre 

Mineral Wool RIF 41001 

that has successfully been tested 

in accordance with Note Q of the Regulation (EC) No 1272/2008  

of the European Parliament and of the Council as currently in force 

as given in report No 02G98006A of 21-12-1999. 

This certificate is granted on the basis of the Implementation Rules TRA-BEUC-511  

for EUCEB Certification of mineral wool products. 

No certificate BEUC-511-19650-332-19650    I    Valid from 16-10-2020 until 15-10-2023 

Furnace(s): ROE 2, ROE 6, ROE 7 and ROE 8 

 

Issued in Brussels, on 21 September 2020.  
 
 
 
 

ir. B. De Blaere, 
President of the General Management  

Committee for Certification and Approval 
 



 

 

DECLARATION ENVIRONNEMENTALE DE PRODUIT 
selon ISO 14025 et EN 15804 

 

Informations supplémentaires conformément à 
la NF EN 15804/CN et aux exigences légales 
françaises sur les déclarations 
environnementales de produits  

 

Numéro de la DEP IBU correspondante : EPD-RWI-20190158-CCC1-EN  

Numéro d’enregistrement au programme INIES:  2-116:2020 

Date de l’édition :  Février 2020 

Date de fin de validité :  Février 2025 

 

Rockpanel ® Durable 8mm  

Rockpanel (part of ROCKWOOL Group) 

 

 

 

 

Version of the annex : 2019-01 

 

 

 

 

 

 

 

 

  



 
1. Domaine d’application de cette annexe 
 
Cette annexe à la DEP n°EPD -RWI- 20190158-CCC1-EN for Rockpanel ® Durable 8mm par Rockpanel 
(Member of ROCKWOOL Group) contient des informations supplémentaires permettant d’atteindre la 
conformité avec les normes françaises et les textes législatifs français suivants: 

 NF EN 15804+A1:2014-04, des ouvrages de construction au développement durable — 
Déclarations environnementales sur les produits — Règles régissant les catégories de produits 
de construction 

 NF EN 15804/CN:2016-06, Contribution des ouvrages de construction au développement 
durable – Déclarations environnementales sur les produits – Règles régissant les catégories de 
produits de construction – Complément national à la NF EN 15804+A1 

 Arrêté du 23 décembre 2013 relatif à la déclaration environnementale des produits de 
construction et de décoration destinés à un usage dans les ouvrages de bâtiment, Version 
consolidée au 23 juin 2016. 

 
Pour les produits d’épaisseurs différentes, des règles d’extrapolation sont disponibles, sur demande 
auprès de Rockpanel (https://www.rockpanel.fr/contact/).  
 

2. Avertissement 
 
Les informations continues dans cette annexe et dans la DEP correspondante ont été fournies sous la 
responsabilité de Rockpanel selon NF EN 15804+A1 et le complément national NF EN 15804/CN. 
 
Toute exploitation, partielle ou totale, des informations fournies dans ce document devra être 
accompagnée au minimum par la référence explicite à la DEP originale et à l’émetteur de celle-ci, qui 
devra pouvoir en fournir un exemplaire complet.  
 
La norme EN15804+A1 définit les Règles pour la définition des catégories de produit (RCP).  
 
NOTE 1 la traduction littérale en français du terme anglais « Environmental Product Declaration (EPD)» est 
« déclaration Environnementale de Produit (DEP). Cependant, un autre terme, FDES (Fiche de Déclaration 
Environnementale et Sanitaire) est couramment employé. Cette fiche comporte la déclaration environnementale et 
des informations sanitaires concernant le produit qu’elle concerne. La FDES est donc une DEP complétée par des 
informations sanitaires.  
 
 

3. Produit déclaré  
 
Description de l’unité fonctionnelle 
 
Assurer la fonction de revêtement de 1m2 de façade (épaisseur 8 mm et densité 1050 kg/m3) pendant 
un durée de vie de référence de 60 ans.  
 
Caractéristiques techniques du produit  Rockpanel ® Durable 8mm  
 
 

Caractéristiques Valeur Unité 
Conductivité thermique selon EN10456 0,37(Durable) W/(mK) 
Dimension 3050 * 1250 mm * mm 
Densité selon EN323 1050 kg/m3 
Masse surfacique 8,4 kg/m2 
Résistance à la flexion f05 selon EN 3120/EN 1058 27 N/mm2  
Module d’élasticité selon EN310 4015 N/mm2 
Perméabilité à la vapeur Sd (ISO 12572 :2016) 1,8 – 3,5  m 
Coefficient de dilatation thermique selon EN 438-2  10,5 10E-3 mm/(m.K) 

 
  



 
 
Description des principaux composants du produit  
 

Composants Pourcentage (%) 
Roche naturelle 18 
Ciment 10 
Laitier et autres matières premières secondaires 56 
Huile minérale et agent adhésif 0,4 
Liant 12 
Revêtement  3,6 

 
L’emballage représente moins de 5% du produit final fourni aux clients.  
 
Règlement REACH 
Le produit ne contient pas de substances de la liste candidate (version du 16 Juillet 2019) selon le 
règlement REACH (annexe XIV).  
 
Description de la durée de vie de référence  
 

Paramètre Valeur 
Durée de vie de référence 60 ans  
Propriétés déclarées du produit (à la sortie de 
l'usine) et finitions, etc. 

Selon les normes EAD 090001-01-0404 
“Prefabricated compressed mineral wool boards 
with organic or inorganic finish and with 
specified fastening system”;  
Selon le test de durabilité accéléré réalisé par  
Bouw Technologie. 

Paramètres théoriques d'application (s'ils sont 
imposés par le fabricant), y compris les références 
aux pratiques appropriées et des codes d’application 

Se conformer aux guides d’installation. 
L’installation doit être réalisée conformément 
aux guides du fabricant, de la DOP et des Avis 
Techniques 

Qualité présumée des travaux, lorsque l'installation 
est conforme aux instructions du fabricant 

Les panneaux Rockpanel doivent être mis en 
œuvre conformément aux Avis Techniques et 
les recommandations du fabricant.  

Environnement extérieur (pour les applications en 
extérieur), par exemple intempéries, polluants, 
exposition aux UV et au vent, orientation du bâtiment, 
ombrage, température  

Les conditions environnementales extérieures 
sont basées sur les conditions climatiques 
moyennes en Europe. 

Environnement intérieur (pour les applications en 
intérieur), par exemple température, humidité, 
exposition à des produits chimiques 

Les panneaux Rockpanel sont destinés pour les 
façades extérieures.  

Conditions d'utilisation, par exemple fréquence 
d'utilisation, exposition mécanique 

Pas applicable ; les panneaux Rockpanel sont 
principalement destinés pour les façades 
extérieures  

Maintenance, par exemple fréquence exigée, type et 
qualité et remplacement des composants 
remplaçables 

Il est conseillé de nettoyer les panneaux une fois 
par an en les rinçant avec de l’eau.  

 
 
4. ACV: Indicateurs complémentaires  
 
Les deux indicateurs « pollution de l’eau » et « pollution de l’air » sont calculés sur la base d’une 
approche de « volumes critiques » selon la norme NF EN 15804/CN. 
L’indicateur « gaz et process fourni à l’extérieur » est un indicateur de l’inventaire du cycle de vie. 
  



 
 
5. ACV: Scenarios et informations techniques additionnelles 
 
Compte tenu que la déclaration environnementale produit réalisée pour IBU contient le cycle de vie 
complet du produit, c’est-à-dire que la DEP est « cradle to grave ». Par conséquent, uniquement l’étape 
de transport A4 a été adaptée pour le marché français.  
 
La distance de transport entre le site de production (Roermond, Pays-Bas) à Paris est de 449 km par 
camion et les paramètres sont les suivants:  
 
Transport jusqu’au chantier (A4) 

Paramètre Valeur Unité 
Consommation 38 l/km 
Distance de transport 449 km 
Utilisation de la capacité (y 
compris les retours à vide) 

85 % 

Masse volumique des produits 
transportés 

1050 kg/m3 

  



 
6. LCA: Résultats 
 
 

DESCRIPTION DES FRONTIERES DU SYSTEME (X = INCLUS DANS l’ACV; MND = MODULE NON 
DECLARE, MNR = MODULE NON RELEVANT) 

ETAPE DE 
PRODUCTION 

ETAPE DE 
MISE EN 
OEUVRE 

ETAPE DE VIE EN OEUVRE ETAPE DE FIN DE VIE 

BENEFICES ET 
CHARGES AU 
DELA DU DES 
FRONTIERES 
DU SYSTEME 

A
pp

ro
vi

o
nn

em
en

t 
m

at
iè

re
s 

p
re

m
iè

re
s  

T
ra

n
sp

o
rt

 

P
ro

d
u

ct
io

n 

T
ra

ns
p

or
t 

ju
sq

u
’

au
 

ch
a

nt
ie

r 

In
st

a
lla

tio
n 

U
sa

g
e 

M
a

in
te

n
an

ce
 

R
e

pa
ra

tio
n 

R
e

m
pl

a
ce

m
e

nt
1)

 

R
é

ha
b

ili
ta

tio
nt

1)
 

U
til

is
a

tio
n

 d
e

 
l’

én
er

g
ie

 

U
til

is
a

tio
n

 d
e

 
l’

ea
u 

D
e

-c
o

ns
tr

uc
tio

n 
de

m
o

lit
io

n 

T
ra

n
sp

o
rt

 

T
ra

ite
m

e
nt

 d
es

 
dé

ch
e

ts
 

D
é

ch
ar

ge
 

R
é

e
m

p
lo

i- 
R

ec
yl

ag
e 

p
ot

en
tie

l 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

x  x   x  x x  MND  X  MNR MNR MNR MNR MNR x x x x x 
 

RESULTATS DE l’ACV – IMPACT ENVIRONMENTAL: [1 m2 de Rockpanel ® Durable 8mm] 
Indicateurs 
d’impact 

Unité A1-A3 A4 A5 B2 C1 C2 C3 C4 D 

GWP [kg CO2-Eq.] 1,43E+01 2,68E-01 1,46E+00 2,47E+00 0,00E+00 3,15E-02 0,00E+00 2,46E-01 -3,32E-01 

ODP 
[kg CFC11-

Eq.] 
8,16E-8 4,44E-17 5,00E-09 2,21E-14 0,00E+00 5,21E-18 0,00E+00 7,57E-16 2,49E-13 

AP [kg SO2-Eq.] 6,46E-02 2,26E-04 3,47E-03 1,02E-02 0,00E+00 2,87E-05 0,00E+00 7,86E-04 -1,14E-03 
EP [kg (PO4)3--Eq.] 2,23E-02 5,01E-05 1,20E-03 7,81E-04 0,00E+00 6,47E-06 0,00E+00 1,27E-04 -1,01E-04 

POCP [kg ethene-Eq.] 4,34E-03 8,48E-07 2,54E-04 9,36E-04 0,00E+00 -7,88E-07 0,00E+00 8,80E-05 -1,42E-04 
ADPE [kg Sb-Eq.] 1,03E-05 2,07E-08 5,16E-07 2,96E-06 0,00E+00 2,43E-09 0,00E+00 4,77E-08 -4,07E-08 
ADPF [MJ] 1,72E+02 3,64E+00 9,60E+00 4,62E+01 0,00E+00 4,27E-01 0,00E+00 1,87E+00 -8,88E+00 
AirP [m3] 1,30E+03 6,31E+00 9,28E+01 4,37E+02 0,00E+00 7,58E-01 0,00E+00 4,94E+01 -3,75E+01 

WaterP [m3] 7,61E+00 8,72E-02 4,00E-01 2,81E+00 0,00E+00 1,03E-02 0,00E+00 2,87E-02 -1,29E-01 
 

Légende 

GWP = Potentiel de réchauffement global; ODP = Potentiel d’appauvrissement de la couche d’ozone stratosphérique; AP = Potentiel 
d’acidification du sol et de l’eau; EP = Potentiel d’eutrophisation; POCP = Potentiel de formation d’ozone troposphérique; ADPE = Potentiel 

d’épuisement abiotique des ressources non fossiles; ADPF = Potentiel d’épuisement abiotique des ressources fossiles; AirP = Pollution de l’air 
WaterP = Pollution de l’eau 

 

RESULTATS DE l’ACV – UTILISATION DES RESSOURCES: [1 m2 de Rockpanel ® Durable 8mm] 
Flux 

d’énergie 
Unité A1-A3 A4 A5 B2 C1 C2 C3 C4 D 

PERE [MJ] 9,28E+01 2,12E-01 8,56E+00 5,10E+00 0,00E+00 2,49E-02 0,00E+00 2,39E-01 -2,81E+00 
PERM [MJ] 4,26E+00 0,00E+00 -3,54E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
PERT [MJ] 9,68E+01 2,12E-01 5,05E+00 5,10E+00 0,00E+00 2,49E-02 0,00E+00 2,39E-01 -2,81E+00 

PENRE [MJ] 1,41E+02 3,66E+00 1,02E+01 5,02E+01 0,00E+00 4,29E-01 0,00E+00 1,94E+00 -9.36E+00 
PENRM [MJ] 3,72E+01 0,00E+00 -1,62E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
PENRT [MJ] 1,78E+02 3,66E+00 1,01E+01 5,02E+01 0,00E+00 4,29E-01 0,00E+00 1,94E+00 -9,36E+00 

SM [kg] 5,49E+00 0,00E+00 2,74E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 -5,49E+00 
RSF [MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

NRSF [MJ] 1,51E+01 0,00E+00 7,53E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
FW [m³] 1,57E-02 3,595E-04 2,58E-03 1,36E-02 0,00E+00 4,21E-05 0,00E+00 4,76E-04 -3,97E-03 

 

Légende 

PERE = Utilisation de ressources d’énergie primaire renouvelable, à l’exclusion des ressources d’énergie primaire renouvelable 
utilisée comme matières premières; PERM = Utilisation de ressources d’énergie primaire renouvelable utilisées en tant que matières 
premières ; PERT = Utilisation totale de ressources d’énergie primaire renouvelable; PENRE = Utilisation de ressources d'énergie 
primaire non renouvelable, à l’exclusion des ressources d’énergie primaire renouvelable utilisées comme matières premières; PENRM 
=Utilisation de d'énergie primaire non renouvelable utilisées en tant que matières premières; PENRT = Utilisation totale de ressources 
d'énergie primaire non renouvelable; SM = Utilisation de matériaux secondaires RSF = Utilisation de combustibles secondaires 
renouvelables; NRSF = Utilisation de combustibles secondaires non renouvelables; FW = Utilisation nette d’eau douce 

 

RESULTATS DE l’ACV – FLUX DE SORTIE ET CATEGORIES DE DECHETS: [1 m2 de Rockpanel ® 
Durable 8mm] 

Flux de 
déchet 

Unité A1-A3 A4 A5 B2 C1 C2 C3 C4 D 

HWD [kg] 5,58E-07 2,04E-07 4,16E-08 7,49E-08 0,00E+00 2,40E-08 0,00E+00 3,16E-08 4,21E-09 
NHWD [kg] 7,69E-01 2,97E-04 5,13E-01 6,79E-01 0,00E+00 3,49E-05 0,00E+00 8,56E+00 5,62E-01 
RWD [kg] 1,33E-03 4,96E-06 1,37E-04 1,58E-03 0,00E+00 5,82E-07 0,00E+00 2,60E-05 -1,71E-05 
CRU [kg] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
MFR [kg] 0,00E+00 0,00E+00 1,65E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
MER [kg] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
EEE [MJ] 0,00E+00 0,00E+00 6,99E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 4,41E-02 0,00E+00 
EET [MJ] 0,00E+00 0,00E+00 2,08E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
EEP [MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

Légende 

HWD = Déchets dangereux éliminés; NHWD = Déchets non dangereux éliminés; RWD = Déchets radioactifs éliminés; CRU = 
Composants destinés à la réutilisation; MFR = Matériaux destinés au recyclage; MER = Matériaux destinés à la récupération de 
l'énergie ;; EEE = Énergie électrique fournie à l'extérieur; EEE = Énergie thermique fournie à l'extérieur; EEP: Gaz et process fourni à 

l’extérieur 

  



 
7. ACV: Indicateurs d’impacts par étape 
 

 
ETAPE DE 

PRODUCTION 
ETAPE DE MISE EN 

OEUVRE 
ETAPE DE VIE EN 

OEUVRE 
ETAPE DE FIN DE VIE 

TOTAL CYCLE DE 
VIE 

 A1-A3 A4-A5 B1-B7 C1-C4 A1-C4 
 

RESULTATS DE l’ACV – IMPACT ENVIRONMENTALE: [1 m2 de Rockpanel ® Durable 8mm] 
Indicateurs 
d’impact 

Unité A1-A3 A4-A5 B1-B7 C1-C4 A1-C4 

GWP [kg CO2-Eq.] 1,43E+01 1,73E+00 2,47E+00 2,78E-01 1,88E+01 
ODP [kg CFC11-Eq.] 8,16E-08 5,00E-09 2,21E-14 7,62E-16 8,64E-08 
AP [kg SO2-Eq.] 6,46E-02 3,70E-03 1,02E-02 8,16E-04 7,93E-02 
EP [kg (PO4)3--Eq.] 2,23E-02 1,25E-03 7,81E-04 1,34E-04 2,45E-02 

POCP [kg ethene-Eq.] 4,34E-03 2,55E-04 9,36E-04 8,72E-05 5,62E-03 
ADPE [kg Sb-Eq.] 1,03E-05 5,37E-07 2,96E-06 5,02E-08 1,38E-05 
ADPF [MJ] 1,72E+02 1,32E+01 4,62E+01 2,30E+00 2,34E+02 
AirP [m3] 1,30E+03 9,92E+01 4,37E+02 5,02E+01 1,89E+03 

WaterP [m3] 7,61E+00 4,87E-01 2,81E+00 3,90E-02 1,10E+01 
 

Légende 

GWP = Potentiel de réchauffement global; ODP = Potentiel d’appauvrissement de la couche d’ozone stratosphérique; AP = Potentiel 
d’acidification du sol et de l’eau; EP = Potentiel d’eutrophisation; POCP = Potentiel de formation d’ozone troposphérique; ADPE = Potentiel 

d’épuisement abiotique des ressources non fossiles; ADPF = Potentiel d’épuisement abiotique des ressources fossiles; AirP = Pollution de l’air 
WaterP = Pollution de l’eau 

 

RESULTATS DE l’ACV – UTILISATION DES RESSOURCES: [1 m2 de Rockpanel ® Durable 8mm] 
Flux 

d’énergie 
Unité A1-A3 A4-A5 B1-B7 C1-C4 A1-C4 

PERE [MJ] 9,28E+01 8,80E+00 5,10E+00 2,64E-01 1,07E+02 
PERM [MJ] 4,26E+00 -3,54E+00 0,00E+00 0,00E+00 7,20E-01 
PERT [MJ] 9,68E+01 5,26E+00 5,10E+00 2,64E-01 1,08E+02 

PENRE [MJ] 1,41E+02 1,38E+01 5,02E+01 2,37E+00 2,07E+02 
PENRM [MJ] 3,72E+01 -1,62E-01 0,00E+00 0,00E+00 3,70E+01 
PENRT [MJ] 1,78E+02 1,38E+01 5,02E+01 2,37E+00 2,44E+02 

SM [kg] 5,49E+00 2,74E-01 0,00E+00 0,00E+00 5,77E+00 
RSF [MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

NRSF [MJ] 1,51E+01 7,53E-01 0,00E+00 0,00E+00 1,58E+01 
FW [m³] 1,57E-02 2,94E-03 1,36E-02 5,18E-04 3,27E-02 

 

Légende 

PERE = Utilisation de ressources d’énergie primaire renouvelable, à l’exclusion des ressources d’énergie primaire renouvelable 
utilisée comme matières premières; PERM = Utilisation de ressources d’énergie primaire renouvelable utilisées en tant que matières 

premières ; PERT = Utilisation totale de ressources d’énergie primaire renouvelable; PENRE = Utilisation de ressources d'énergie 
primaire non renouvelable, à l’exclusion des ressources d’énergie primaire renouvelable utilisées comme matières premières; PENRM 
=Utilisation de d'énergie primaire non renouvelable utilisées en tant que matières premières; PENRT = Utilisation totale de ressources 

d'énergie primaire non renouvelable; SM = Utilisation de matériaux secondaires RSF = Utilisation de combustibles secondaires 
renouvelables; NRSF = Utilisation de combustibles secondaires non renouvelables; FW = Utilisation nette d’eau douce 

 

RESULTATS DE l’ACV – FLUX DE SORTIE ET CATEGORIES DE DECHETS: [1 m2 de Rockpanel ® 
Durable 8mm] 

Flux de 
déchet 

Unité A1-A3 A4-A5 B1-B7 C1-C4 A1-C4 

HWD [kg] 5,58E-07 2,46E-07 7,49E-08 5,56E-08 9,36E-07 
NHWD [kg] 7,69E-01 5,14E-01 6,79E-01 8,56E+00 1,05E+01 
RWD [kg] 1,33E-03 1,42E-04 1,58E-03 2,66E-05 3,08E-03 
CRU [kg] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
MFR [kg] 0,00E+00 1,65E-01 0,00E+00 0,00E+00 1,65E-01 
MER [kg] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
EEE [MJ] 0,00E+00 6,99E-01 0,00E+00 4,41E-02 7,43E-01 
EET [MJ] 0,00E+00 2,08E+00 0,00E+00 0,00E+00 2,08E+00 
EEP [MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

Légende 

HWD = Déchets dangereux éliminés; NHWD = Déchets non dangereux éliminés; RWD = Déchets radioactifs éliminés; CRU = 
Composants destinés à la réutilisation; MFR = Matériaux destinés au recyclage; MER = Matériaux destinés à la récupération de 
l'énergie ;; EEE = Énergie électrique fournie à l'extérieur; EEE = Énergie thermique fournie à l'extérieur; EEP: Gaz et process fourni à 

l’extérieur 
 

  



 
8. Informations supplémentaires sur le rejet de substances dangereuses dans 

l’air intérieur des bâtiments, dans le sol et dans l’eau pendant la phase 
d’utilisation  

 
8.1 Air à l’intérieur des bâtiments  
 
Le produit Rockpanel ® Durable n’est pas en contact avec l’air intérieur. Néanmoins, le produit a été 
testé conformément à la réglementation en vigueur.  
Le produit est classé A+ (rapport DEVL1101903D et DEVL1104875A).  
 

 

 
 
Le produit Rockpanel ® Durable est également conforme à la réglementation en vigueur concernant la 
présence de substance CMR (rapport DEVP0908633A and DEVP0910046A). 
 
Laines minérales et santé  
 

 Irritation mécanique des fibres  
Les fibres de laines minérales ne sont plus classées R38 pour l’irritation pour la peau depuis 
janvier 2009 (Directive 2009/2/CE) et n’ont donc plus aucun classement irritant. Les plus 
grosses de ces fibres (celles dont le diamètre est  supérieur à environ 5 µm) peuvent, comme 
tout corps étranger, causer des démangeaisons. Ces démangeaisons sont des réactions 
mécaniques et non chimiques. Elles sont temporaires. 
 

 Classement cancérogène des fibres 
Les fibres constituant les laines minérales sont exonérées du classement cancérogène d’après : 
le Règlement sur le classement et l'étiquetage des substances et mélanges, le Règlement (CE) 
n° 1272/2008 et sa première mise à jour le Règlement (CE) n° 790/2009. Elles ont en effet 
passé avec succès les tests prévus par ce Règlement et leur biopersistance est inférieure aux 
valeurs définies dans la note « Q » de ce texte. Cette exonération est certifiée par l’EUropean 
CErtification Board (EUCEB - www.euceb.org).  
 
L’EUCEB certifie que les fibres sont en conformité avec la note « Q » du Règlement (CE) n° 
1272/2008. L’EUCEB garantit que les tests d’exonération ont été exécutés dans le respect des 
protocoles européens, que les industriels ont mis en place des procédures de contrôle lors de 
la fabrication des produits, que des tierces parties contrôlent et valident les résultats. 
 
L’engagement des industriels vis à vis d’EUCEB consiste à : 
 

 Fournir un rapport d’essai établi par un des laboratoires reconnus par l’EUCEB, prouvant 
que les fibres satisfont à une des quatre conditions d’exonération prévues dans la note 
« Q » du Règlement (CE) n° 1272/2008,  

 Se soumettre, deux fois par an, au contrôle de sa production par une tierce partie 
indépendante reconnue par EUCEB (prélèvements d’échantillons et conformité à l’analyse 
chimique initiale),  

 Mettre en place les procédures de contrôle interne dans chaque usine. 
 

  



 
Les produits répondant à cette certification sont reconnaissables grâce au logo EUCEB 
apposé sur les emballages : 
 

 
 

 Classement cancérogène des fibres 

Les recommandations à suivre pour la mise en œuvre des matériaux isolants à base de laine 
minérale sont similaires à celles usuellement applicables à tout chantier et sont les suivantes : 
 

 
 



 
De plus, des mesures réalisées sur des chantiers de construction montrent des expositions moyennes 
des professionnels installant des isolants en laine minérale plus faibles que celles mesurées sur les 
sites de production. Ces mesures ont été réalisées à la demande du FILMM sur des chantiers en 
France par des organismes agréés. 

 Mesures individuelles, réalisées sur les opérateurs 

Types d'applications 
nombre de 
mesures 

moyenne médiane 

probabilité de 
dépasser la 
valeur limite 
d'exposition 

professionnelle 

(f/ml) (f/ml) (1 f/ml) 

Murs - Laine de verre sur ossature métallique 9 0,1 0,07 0,07% 

Murs - Complexe de doublage 7 0,23 0,19 2,01% 

Toits - Laine de verre à souffler 8 0,09 0,05 0,12% 
Rampants - Laine de verre 4 0,08 0,06 0,00% 
Projection - Laine de laitier (opérateur alimentation) 6 0,07 0,06 0,00% 

Projection - Laine de laitier (projeteur) 10 0,07 0,06 0,00% 

Tableau : Résultats de mesures d'exposition aux fibres de laines minérales réalisées en 2006 et 
2007 sur des chantiers de construction en France (source : FILMM) 

 
 Les fibres pendant la vie du bâtiment 

L’Observatoire de la Qualité de l‘Air Intérieur a mesuré les concentrations dans l’air ambiant 
des fibres minérales lors de son étude pilote en 2002. Ces résultats, d’après l’OQAI, n’ont pas 
montré « de spécificité apparente des espaces intérieurs. Les valeurs mesurées sont de l’ordre 
de 10-4 fibres par litre sans différence marquée entre l’extérieur et l’intérieur pour l’ensemble 
des sites mesurés. » 
 
L’analyse de ces résultats et la hiérarchisation des polluants réalisés par le groupe d’experts de 
l’OQAI ont abouti à la décision de ne pas refaire de mesures de concentrations en fibres dans 
l’air intérieur des logements lors de leur campagne de 2003-2005. 
 
Les fibres de laines minérales ne représentent qu’une infime partie des particules et fibres 
respirables présentes dans l’air ambiant. Dans les locaux à usage privé ou collectif, les niveaux 
d’exposition sont de l’ordre de 0,0002 à 0,005 fibre/ml, soit 1/200ème de la Valeur Limite 
d’Exposition professionnelle (Schneider T., 1995). 

 
Figure : Les fibres respirées dans l'air intérieur 

 
 

8.2 Sol et eau  
Le produit Rockpanel ® Durable ne contient pas / n’émet pas de substances dangereuses spécifiée 
dans le document TR034 (octobre 2015) – General BWR3 Checklist for EADs/ETAs Dangerous 
substances.  
 



 
9. Contribution du produit à la qualité de vie à l’intérieur des bâtiments  

 
9.1 Confort hygrothermique 
 
Le produit Rockpanel ® Durable mis en œuvre avec une isolation appropriée dans une façade ventilée 
contribue à un environnement intérieur sain et confortable car il réduit les effets de parois froides.  
Son pare-pluie prévient tout risque de condensation dans les parois intérieures.  
En plus du confort, l’isolation permet de réduire la consommation d’énergie du bâtiment.  
Le produit Rockpanel ® Durable est fabriqué à partir de laine minérale qui est résistante à l’humidité et 
a un comportement hydrophobe. Il ne retient pas l’eau et régule l’humidité.  
 
9.2 Confort acoustique  
 
Les panneaux Rockpanel ® Durable lorsqu’ils sont installés dans un système de façade ventilée en tant 
que tel ne contribuent pas à la réduction du bruit, une façade ventilée en tant que telle peut contribuer 
à créer des conditions acoustiquement confortables. 
 
9.3 Confort visuel  
 
Bien que le produit Rockpanel ® Durable est principalement conçu pour l’application extérieure, il peut 
être utilisé dans des conditions intérieures où il contribue à un bâtiment attrayant esthétiquement en 
raison de la large gamme de conception. Pour l’application extérieure, les produits Rockpanel ® Durable 
peuvent contribuer au bien-être des habitants en créant un design de bâtiment agréable et esthétique 
combiné à des économies d’énergie et un faible entretien. 
 
9.4 Confort olfactif  
 
Non pertinent pour le produit Rockpanel ® Durable  
 
 

10. References

NF EN 15804+A1 
NF EN 15804+A1:2014-04, Contribution des 
ouvrages de construction au développement 
durable — Déclarations environnementales sur 
les produits — Règles régissant les catégories de 
produits de construction 
 
NF EN 15804/CN 
NF EN 15804/CN:2016-06, Contribution des 
ouvrages de construction au développement 
durable – Déclarations environnementales sur les 
produits – Règles régissant les catégories de 
produits de construction – Complément national 
à la NF EN 15804+A1 

 
Arrêté du 23 décembre 2013 
Arrêté du 23 décembre 2013 relatif à la 
déclaration environnementale des produits de 
construction et de décoration destinés à un 
usage dans les ouvrages de bâtiment, Version 
consolidée au 23 juin 2016. 
 
 
 
 
 



 

 

 

 

Publisher 
Institut Bauen und Umwelt e.V. 
Panoramastr. 1 
10178 Berlin 
Germany 

Tel +49 (0)30 3087748- 0 
Fax +49 (0)30 3087748- 29 
Mail info@bau-umwelt.com 
Web www.bau-umwelt.com 

 

 

Programme operator 
Institut Bauen und Umwelt e.V. 
Panoramastr 1 
10178 Berlin 
Germany 

Tel +49 (0)30 - 3087748- 0 
Fax +49 (0)30 – 3087748 - 29 
Mail info@bau-umwelt.com 
Web www.bau-umwelt.com 

 

 

Programm operator of the FDES 
by delegation 
Programme INIES 
11, rue Francis de Pressensé 
93571 La Plaine Saint-Denis Cedex 
France 

 
Tel +33 (0)1 41 62 87 64 
Mail admin@base-inies.fr 
Web www.inies.fr 

 

 

Owner of the EPD and of its 
annex 
ROCKWOOL International A/S 
Hovedgaden 584 
2640 Hedehusene 
Denmark 

Tel +45 46 56 03 00 
Fax +45 46 56 33 11 
Mail info@rockwool.com 
Web www.rockwoolgroup.com 

 

 
 

Author of the Life Cycle 
Assessment 
ROCKWOOL International A/S 
Hovedgaden 584 
2640 Hedehusene 
Denmark 

Tel +45 46 56 03 00 
Fax +45 46 56 33 11 
Mail info@rockwool.com 
Web www.rockwoolgroup.com 

 

Vérificateur de cette annexe 
Dr. Frank Werner 
Environment & Development 
Oberes Werd 4 
CH-9410 Heiden 
Suisse 
 

Tel +41 (0)41 241 39 06 
Mail  frank@frankwerner.ch 
Web  www.frankwerner.ch 



See the Cradle to Cradle Certified Product Registry at www.c2ccertified.org  for additional details
Use of the certification marks is subject to the terms and conditions of the C2CPII Certification Agreement and Trademark Use Guidelines.
Cradle to Cradle Certified is a registered trademark of the Cradle to Cradle Products Innovation Institute 

ROCKWOOL B.V. / 
Rockpanel
has successfully achieved Cradle to Cradle Certified® Silver
for the product(s) under the name:

Rockpanel Façade Cladding 
Silver

Rockpanel Colours Durable 6mm; Rockpanel Colours Durable 8mm; Rockpanel Colours A2 9 mm and 
Rockpanel Colours A2 8 mm; Rockpanel Natural Durable 8mm; Rockpanel Natural Durable 10mm

Certification Number
6341

Standard Version
4.0

Lead Assessment Body
Sustenuto

Material Health
Assessment Body
ARCHE Consulting

Effective Date
24 May 2024

Expiration Date
23 May 2027 Elwyn Grainger-Jones

Executive Director
Cradle to Cradle Products Innovation Institute



Safe Use  
Instructions Sheet

1



Rockpanel
Safe Use Instructions Sheet

January 2021 2

1. Product and company identification
Generic product name ROCKPANEL

Recommended use Robust and flexible board material for use in facades, roof edge finishing,
fascias and other detailing.

Producer ROCKWOOL B.V. / 
ROCKPANEL
Konstruktieweg 2
6045 JD ROERMOND
THE NETHERLAND

Tel.: +31 (0)475 353 000
Fax: +31 (0)475 353 550
Email: info@rockpanel.com

Emergency telephone number +31 (0)475 353 000

2. Hazards identification
Most important hazards There is no Hazard statement associated with this product.

Specific hazards Non applicable.

3. Composition / information on ingredients
Substance C.A.S. 

number (3)
Amount
weight (%)

Classification and  
labelling (Regulation (CE) N° 
1272/2008)

Classification and labelling
(European directive 67/548/
EEC)

Stone wool (1) 287922-11-6 84 – 92% Not classified (2) Not classified

Binder 7 – 15% Not classified Not classified

Cured Coating 0 – 2.5% Not classified Not classified

(1): 	Man-made vitreous (silicate) fibres with random orientation with alkaline oxide and alkali earth oxide 
	 (Na2O+K2O+CaO+MgO+BaO) content greater than 18% by weight and fulfilling one of the nota Q conditions

(2): Non classified H351 “suspected of causing cancer”. Stone wool fibres are not classified carcinogenic according to the  
	 nota Q of the Directive 97/69/EEC and the regulation n° 1272/2008 (page 335 of the JOCE L353 of December 31, 2008)

(3): 	C.A.S. : Chemical Abstract Service

4. First aid measures
Information according to the different exposure route for dust:

Inhalation Remove from exposure. Rinse the throat and blow nose to clear dust.

Skin contact If itching occurs, remove contaminated clothing and wash skin gently with
cold water and soap.

Eyes contact Rinse abundantly with water for at least 15 minutes.

Ingestion Drink plenty of water if accidentally ingested.

If any adverse reaction or discomfort continues from any of the above exposures, seek medical professional advice.

(1): The European Regulation (ER) on Chemicals N° 1907/2006 (REAC H) enforced on June 1st 2007 requires Material Safety Data Sheet 
(MSDS) only for hazardous substances and mixtures/preparations. Mineral wool products (like panels), are articles under REACH and therefore, 
MSDS is not legally required. Nevertheless, ROCKWOOL decides to provide its customers with the appropriate information for assuring safe 
handling and use of mineral wool through this Safe Use Instructions Sheet.



Rockpanel
Safe Use Instructions Sheet

January 2021 3

5. Fire fighting measures
Suitable extinguishing media ROCKPANEL board material is subject to thorough testing and is a fire-safe 

building material. In the event of a fire the mineral wool structure of ROCKPANEL 
board material remains fully intact. There is absolutely no drop-formation and the 
risk of fire spreading is prevented. Packaging materials or facings may howev-
er be combustible. Suitable extinguishing media; water, foam, carbon dioxide 
(CO2), and dry powder. In large fires in poorly ventilated areas or involving pack-
aging materials respiratory protection / breathing apparatus may be required.

6. Accidental release measures
Personal precautions In case of presence of high concentrations of dust, use the same personal 

protective equipment as mentioned in section 8.

Environmental protection Not relevant.

Methods for cleaning up Clean with vacuum or dampen with water spray prior to sweeping up.

7. Handling and storage
Handling

Technical measures No specific measures. ROCKPANEL advices that users should wear standard 
personal protection equipment during sawing.
Use hard point hand saw. Circular saw e.g. fine-toothed Widea saw blade.
Fretsaw, e.g. fine-toothed saw blade or a saw blade with tungsten granules.  
We advice to use dust-reducing equipment in combination with an exhaust hood 
in a well ventilated room when sawing indoor.
In case of outdoor sawing we advice to use dust-reducing if a power
tool is used, it must be equipped with efficient air suction.
Position the saw installation so that the wind blows away the released dust.

Precautions Ensure adequate ventilation of workplace. See section 8.

Safe handling advice Not relevant.

Storage

Technical measures No special measures necessary.

Suitable storage condition ROCKPANEL boards are insensitive to moisture. Nevertheless it is recommended
that the board material be stored on a flat pallet in dry, flat, frost-proof and 
protected conditions. Never stack more than two pallets on top of each other. 
The panels should be raised when being machined. The panels should not be 
slid over one another. Protective foam membranes should be placed between 
the sheets again to protect the surface layer, for example when the panels are 
stacked after having been sawn.

Incompatible materials None.

Packaging material Products are packed in polyethylene film on wooden pallet.



Rockpanel
Safe Use Instructions Sheet

January 2021 4

8. Exposure controls / personal protection
Exposure Limit Value None at European level.

Exposure controls No specific requirements.

Individual protection equipments

Respiratory protection When working in unventilated area or during operations which can generate 
emission of any dust, wear a disposable face mask.
Type in accordance with EN 149 FFP1 is recommended.

Hand protection Use gloves to avoid itching in conformity with EN 388

Eyes protection Wear goggles when working overhead.
Eye protection according with EN 166 is advised.

Skin protection When working in unventilated area we recommend to cover exposed skin.

Hygiene measures Rinse in cold water before washing

The following sentence and pictograms are printed on packaging.
The mechanical effect of fibres in contact with skin may cause temporary itching

Ventilate working area  
if possible.

Waste should be disposed.of 
according to local regulations.

Cover exposed skin.
When working in unventilated area 
wear disposable face mask.

Clean area using vacuum  
equipment.

Wear goggles when  
working overhead.

Rinse in cold water  
before washing.



Rockpanel
Safe Use Instructions Sheet

January 2021 5

9. Physical and chemical properties
Physical state Solid.

Form Articles in panel or plank form.

Colour Grey green (basic board).

Odour Not applicable.

pH Not applicable.

Boiling point Not relevant.

Flash point Not relevant.

Flammability Not relevant.

Explosive properties Not relevant.

Density From 1000 to 1300 kg/m3.

Water solubility Generally chemically inert and insoluble in water.

Fat solubility Not applicable.

Melting point > 1000 °C.

10. Stability and reactivity
Stability Binder will decompose above ca. 200°C.

Dangerous reactions None, when the product is applied according to recommended use (see 1.).

Hazardous decomposition products None, when the product is applied according to recommended use (see 1.).

11. Toxicological information
Acute effect The mechanical effect of fibres in contact with the skin can cause a temporary 

itching.

Carcinogenic effect Classification not applicable for mineral wool in this product;
in accordance with the directive 97/69/EC and European Regulation 1272/2008,
nota Q. (see 15.)

12. Ecological information
This product is not expected to cause harm to animals or plants during normal conditions of use.
Acute effect

13. Disposal considerations
Waste from residues Dispose of in accordance with regulations and procedures in force in  

country of use or disposal.

Dirty packaging Dispose of in accordance with local regulations.

Code from European Waste Catalogue 17 06 04.



Rockpanel
Safe Use Instructions Sheet

January 2021 6

14. Transport information
International regulations No specific regulations.

15. Regulatory information
The European directive 97/69/EC replaced by the regulation (EC) N° 1272/2008 concerning the classification, labelling and
packaging of the substance and the mixtures does not classify Stone wool fibres as hazardous, if they are in compliance with 
the note Q of this Regulation.

The note Q specifies that classification as carcinogenic does not apply if:
•	 a short-term biopersistence test by inhalation has shown that fibres longer than 20μm have a weight half life  

less than 10 days, or
•	 a short-term biopersistence test intra-tracheal instillation has shown fibres longer than 20μm have a weighted half life 

less than 40 days, or
•	 an appropriate intra-peritoneal test has shown no evidence of excess carcinogenicity, or
•	 a suitable long term inhalation test has shown absence of relevant pathogenicity or neoplastic changes. 

Binder will decompose above ca. 200°C.

16. Other information
The Stone wool fibres of this product are exonerated from the carcinogenic classification according to the European  
directive 97/69/CE and the Regulation (EC) 1272/2008 if they fulfil one of the criteria of the nota Q of these texts.
All products manufactured by Rockpanel are made of non-classified fibres and are certified by EUCEB.

EUCEB, European Certification Board of Mineral Wool Products - www.euceb.org, is a voluntary initiative by the mineral
wool industry. It is an independent certification authority that guarantees that products are made of fibres, which comply
with the exoneration criteria for carcinogenicity (Note Q) of the Directive 97/69/EC and the Regulation (EC) 1272/2008.
To ensure that fibres comply with the exoneration criteria all tests and supervision procedures are carried out by independent, 
expert qualified institutions. EUCEB ensures that the producers of mineral wool have put in place self-control
measures.

The mineral wool producers commit to EUCEB to:
•	 supply sampling and analysis reports established by laboratories recognized by EUCEB, proving that  

the fibres comply with one of the four criteria of exoneration described in Note Q of the Directive 97/99/EC,
•	 be controlled, twice per year, of each production unit by an independent third party recognized by EUCEB  

(sampling and conformity to the initial chemical composition),
•	 put in place procedures of internal self-control in each production unit.

Persons who wish to obtain more detailed information have to contact the producer (see address on the first page of this sheet)
Information given in this document is on the state of our knowledge regarding this material as January 4th, 2021.  
It is given in good faith.
The attention of users is drawn to possible risks taken when the product is used for other application than the ones it has been 
designed for.

www.rockpanel.com



Part of the ROCKWOOL Group 

ROCKWOOL BV / Rockpanel , PO box 1160 6040 KD Roermond Netherlands 

Date: 30 October 2024 

Declaration of Absence of Substances of Very High Concern (SVHCs) and CMR substances 

We, Rockpanel, hereby declare that our products do not contain any Substances of Very High Concern 
(SVHCs) as outlined under Article 33 of the REACH Regulation (EC) No 1907/2006. 

Our review and assessment are based on the latest Candidate List published by the European Chemicals 
Agency (ECHA). We ensure that our products comply with the requirements and obligations under REACH, 
and we are committed to maintaining the highest standards of safety and regulatory compliance. 

Our products do not contain any CMR (carcinogenic mutagenic reprotoxic) substances of categories 1A/1B 
in a concentration above 0.1%.  

Should you need any further information or have any questions regarding this declaration, please feel free to 
contact us. 

Thank you for your attention to this matter. 

Sincerely, 

John Relou M.Sc. 

Technical Marketing Manager / PAO 

ROCKWOOL BV / Rockpanel 

john.relou@rockpanel.com 


